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General Instructions :

(1) The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(11)) All questions are compulsory.

(tit) There is no choice in any of the questions.

(tv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v) Question numbers 1 to 3 in Section A are one mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two marks questions. These are to be
answered in about 30 words each.

(vit) Question numbers 7 to 18 in Section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks questions based on practical
skills. They are to be answered in brief.
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HIT - A

SECTION - A

1. 39 qEtE Atafear &1 am fafeae e Swam seqa aqsti w1
Hqw e # uRafdd & o fwman s 1

Name the chemical reaction used to change unsaturated fats to
saturated fats.

2. 3T URH ® AT IARY S HIIH JAHT GRS FA ¢ | 1

List two plants which reproduce by vegetative propagation.

3. i RN J@an A, Hew, fogl, oM IR 90 § faae ot 81 398 Hew 1
1 3fad At wR [EiRa S |

In the food chain consisting of peacock, frog, grasshopper, grass
and snake, assign an appropriate trophic level to frog.

4. TeEved 3R @ued & e < faue il &1 &l Gt difctnl & &9 F 2
T |

List two distinguishing, feature in tabular form between binary
fission and fragmentation.
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5. U1 STcl & QUG 1 STATIRAT i Y & HRI TH FHifTT | 2

Give two reasons to justify the necessity of rainwater harvesting.

6. 31 IR 3Tedl # Uil 1 Sl HITST TSk g kg ot =afeq e 2

1ferer qafaRor fedt a9 At B

List four changes one can make in his/her habits to become more
environment friendly.

7. ' HEAHS GHEEE! | R dedd 8 2 R S fR WA (CH) 39 3
A&T0T 1 T T8l G Fehal| A (C,H,,) & <1 GHIlIq FHe=El hi
S

What is meant by “structural isomers” ? Give reason why
propane (CgHg) cannot exhibit this characteristic. Draw the
structures of possible isomers of butane (C,H,).

8. UIHla ¥ FeAfafad &1 urd & o qamEts wHis fafaw 3
@) TAH
(i) TS TIATTE
(iii) Wfeam TerrEe

31(B) 4



Write chemical equations to show how the following may be
obtained from ethanol :

(1) Ethene
(1) Ethyl ethanoate

(i11) Sodium ethoxide

9. H d@l X, Y 3iR Z &t W] ¥ A 11, 15 R 1781 30 g&w 3
&1 gerae fa=ma fager 9 fou e o & S i

() 3 9 fry oad & o= € 3R =i ?

(i) T Y T GHE & T ?

(iii) X’ SR ‘Z & FAM ¥ 94 Ak w1 ¥ e |

The atomic numbers of three elements X, Y and Z are 11, 15 and
17 respectively. Write the electronic configuration of each of the
elements and answer the following questions :

(1) Which period do these elements belong to and why ?

(11) What is the group number of the element Y’ ?

(111) Write the formula of the compound formed by the
combination of X’ and Z’.
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10.

11.

12.

13.

YR 3TTad ARUTt B T hfeda™ (TR §&A1=20) % =R 3R TR
T 12, 19, 21 IR 38 It dcd ord §1 3780 | shi9-9 i o TEFieh
o hicead o TUIEE! % 99E €, iR i ? 39 T HI TeA S
Ffeaag =t qern ¥ sifaes wnfas T

In the Modern Periodic Table, the element calcium (atomic
number = 20) is surrounded by elements with atomic number 12,
19, 21 and 38. Which of these elements have chemical properties
resembling calcium and why ? Identify the element which is more
metallic as compared to calcium.

AT yfawfa § w0 acad 82 39 TR fafau|

What is meant by DNA copying ? State its importance.

TES] Yo §RI fohel TR S il © 7 H&d § SATE & | qhard

1 S k1 3TeATieR Torf¥ o=l shgd © 2

How does Hydra reproduce by budding ? Explain briefly. Why
is budding called an asexual method of reproduction ?

AT i IR fafEe | TaRemy 3R g | faded st foe
SvIfet g0 § 9 $H T 9 R JheR &1 g2 W o I8 T & o0l
A ¥ I fHE gHR ear § 2
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Define pollination. Distinguish between self pollination and
cross pollination. In a bisexual flower inspite of the young
stamen being removed artificially, the flower produces fruit. How
does it take place ?

14. faf\e@m =1 €2 <iffter S99 g/ gafa § fafiean 59 goRr Scaos gal - 3
€2 o 21 ® 59 el ohrer | wga ) swant fafiead wfed @ o & 2

What are variations ? How does sexual reproduction brings about
variations in the offsprings ? What happens when many useful
variations get accumulated over a long time ?

15. Y% &1 Th-Tah IS0 ool Seord it o frafafeaa fvg g 3
Sirel & foRmd & THYA § YHI W[ R ©

(i) SiemeH
(i) FHSd 3T
(iii) THEY (TEgha)

Giving one example for each, state how the following provide
evidences 1n favour of evolution in organisms :

(1) Fossils
(11) Homologous organs

(111) Analogous organs
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16. I3 ol 15 cm HIHE T & fordt stada dur o qmd 1= & = gfai 3
W @ TR

(1) 10 cm (1) 20 cm
(111) 30 cm (iv) 40 cm

TTH ¥ FRU TR Hd gC 98 fora g giw faa forat &1 = few 1w
eIl 1 gfafer 9 2 :

(a) +2 ¥ A TaEH &1 Gien yidfers

(b) faafiia e gfafars

o

() —1 TaeH 1 adfae Fidafos

An object is placed in front of a concave mirror of focal length
15 cm at the following distances from the mirror :

(1 10 cm (11) 20 cm
(111) 30 cm (iv) 40 cm

Select the object - distance, stating reason, to obtain image of the
following characteristics :

(a) An erect image of magnification more than + 2
(b) An enlarged inverted image

(¢) A real image of magnification —1
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17. oIS o GhIUH § 911 A1cqd © 7 3 =R Wishfaeh IRereredi ot geft sy 3
fSTTehT SATEAT YTl & ThIUH o SR T hl STdl B |

What is meant by scattering of light ? List four phenomena

occurring in nature which are explained on the basis of scattering
of light.

18. Hifen Wienet & 9vaa 6 7 oA el o Wy T Ui g\ e v 3
RS 30 3d W TR yedes gfavnf ool we w1 s e fSr@
Tt ekt @ | fafire g Tl &1 9o 9 & U9, 9 T e
H THA U SR AISH a1 =< T ¥ie & U gfaar |94 s=-go
qSH, T HH AT =i, fawmml, e onfe =1 T Fih 3% 96 &
et M o STeHt T AT FRd 911 G & 6T 7 39 T AR Fqeft
A @ a8 e o foh 3 se-T Oy geiell, ®all & foas &
IR i TG G ST B SR FAAH Dl IS I Tk | & & 3R
et 1 ! g dfed J e |

(i) 39 HAMCUS &1 3o01@ ity o] 89 T HH JFT T &l
Uk Fel Ufedi H S ¥ Jd I STeRT-3Te hid FHI HHIA:
T § ?

(ii) =T T HE AFF (URTE) YTl 1 JYF-JUF FHIH &, TR
i gfte |, T o1l ST P IR

(iii) el g USRI 1 el i gel aFE |
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After the terminal examinations, Naveen along with his
classmates organised an excursion with an understanding that
each one will bring lunch of his/her choice to share with others.
After visiting different spots, they assembled in a park and
enjoyed lunch. Very soon one of the participants wanted to
collect the leftover food, disposable plates, carry bags etc. and
dispose them off by burning them in one of the corners of the
park. Naveen immediately checked and requested all the
participants to segregate the leftover food items and peels of the
fruits from the plastic materials and dispose them off separately
in the green and blue dustbins placed in the park instead of
burning them.

(1) State the criteria generally followed while segregating the
waste for disposing in two separate dustbins.

(11) List two advantages of segregating household waste from the
environmental point of view.

(111) List two values exhibited by Naveen.

19. (a) TESEREH R T2 37 1 ol ol Gl IAREY 1 575 afiehd foham 1
Hohdl € |

(b) TEHhH, TeohiH 3T Tehisd M § 7 TS &l Ueh [AUSTHRR] &0
fafam|

(a) What are hydrocarbons ? List two categories in which these
compounds may be classified.

(b) What are alkanes, alkenes and alkynes ? Write one
distinguishing feature of each.

31(B) 10



20. HME HE S99 o < feU T y&E 9 & < ki fafgu . 5

(i) TSI (i) e =Jd RIEIE
3T HIFT ATAT % IR H Y07 fohd YRR 01907 T el & 2

List two functions each of the following parts in human female
reproductive system :

(1) Ovary ; (1) Owviduct ; (111) Uterus

Explain how the embryo gets its nourishment inside the mother’s
body ?

21. Hed o YAM ¥ I8 kY F0q 3T T : 5
(i) TRTOT GTS] ST STHHTET B & 2

(i) T WA T F I B & 2
How do Mendel’s experiment show the following :
(1) Traits may be dominant or recessive ?

(11) Traits are inherited independently ?

22. f&E ®F 7 3add <Y1 T SUAN Fleh Uo W HHET hi SITell &l Hishigd b
2 faan 71 feafa i few orEm @

ST i TS =2 cm
Y07 1 HIHE =14 cm
STl i U0 § W=21 cm
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Ife ST TUU & G el h d@Ed §, dl MEEd S gk
HIFT

() TUUH US H A

(i) ¢ R 94 yfafers sl g

e IO AR ST & o= HT T TR 28 cm FX & ST, a1 gfafera
el o 3R 39 gfafers 1 WES 0 B 7 3799 S hi RO Eied

qfte wifer |

A student has focussed the image of a candle flame on a screen
using a concave mirror. The situation is as given below

Length of the flame=2 cm
Focal length of the mirror=14 cm
Distance of the flame from the mirror=21 cm

If the flame is perpendicular to the principal axis of the mirror,
calculate the following :

(1) distance of the screen from the mirror,
(1) length of the image formed on the screen.
If the distance between the mirror and the flame is increased to

28 cm, where would the image be formed and what would be its
size ? Give reason to justify your answer.

31(B) 12



23. (i) TR &% TTadd 9 &1 are9d & ? 39 < f4aw fafeu 5

(i) ToTT A ¥ TR § JO9 HL@ § 1 B 1 U STuehih 2.42 B
IfC a1 | FhRT H 91 3% 108 m/s &, @ T H TR i =1 F1
HIfST |

(1) What is meant by refraction of light ? State its two laws.

(11) Light enters from air into diamond which has a absolute
refractive index of 2.42. If the speed of light in air is
3x 108 m/s, find the speed of light in diamond.

24. HHd 93 & A9 U T y&® 9F 1 wE fafan 5
() E=sHed (i) (i) TRaeRt
(iii) ol (iv) gfegea (Xfe)

F12 fad Twgell F Foad adft TR TY W @ UM R, I I 3HF A °
60 cm ¥ 10 m O < =< W@ 2t 81 39 gfe < 1 A fafae a9
g fod difed §1 ST A9 & THR &1 Seoild HIWT (THHT STAN 39
e & ge-afRER & 25 cm @ 3 T% oM | fHar ST gehal B

State the function of each of the following parts of the human

eye :
(1) Cornea (1) Iris
(111) Pupil (iv) Retina

A person is able to see objects distinctly only when they are lying
between 60 cm and 10 m from his eyes. Name the defect of vision
he is suffering from. State the type of lenses that may be used
to increase the range of vision of the person from 25 cm to
infinity.

31(B) 13 P.T.O.



HIT - o

SECTION - B

25. IR SAfufshan e & avard fordlt B 3 ora foaeny o3 sl sifufshan
fagor § garen | = few T Geron/fsndl | | el Yaroy/fsRd 9T

()

(b)
(c)
(d)

stffsan fago g €, *ife I8 foeng oo & @ # feds @
T |

srfafewan fago e ®, ifes 98 A faeug 1 =en & 21 21

srfufsran fago svefiar €, ife 98 ot fereqd =1 Fien 2 a1 § 1

arfferan fagor sreita 8, e I faeme v & O o ftedq T2
T |

After performing saponification reaction, a student dipped a strip

of red litmus paper in the reaction mixture. Select from the

following the correct observation/conclusion :

()

(b)
(©

(d)

31(B)

The reaction mixture is basic as it does not change the colour
of the litmus paper.

The reaction mixture is basic as it changes red litmus to blue.

The reaction mixture is acidic as it changes red litmus to
blue.

The reaction mixture is acidic as it does not change the
colour of the litmus paper.

14
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26. HIEHAIRIUT ATRAT &1 7T A & faw foodl Waet o difeaw 1
SESIITES &1 9Td H 20% Taeram o+ 71| 3699 getyq "4 fqu T
Fgl R foar e :

[. Hifedd TESIFIES SId § qehlel ol Sl & |
1. Hifeay gEeiadEs I faead &l o & a1 § |
111, T7%f e TR foerm & w1 wEeet Ty ydid et § |

IV. TEelt &1 dofl § S 999 93 Sl ¢ |

3_’“3 'F@' geJu % :
(a) I, II 3R 111 (b) II, III 3R IV
@ L III 3R IV () 1 3R III Fad

To study saponification reaction 20% sodium hydroxide solution
in water was prepared in a test tube. Consider the following
observations related to this :

I. Sodium hydroxide readily dissolves in water.

II. Sodium hydroxide solution turns blue litmus to red.

III. The test tube containing solution appears hot when touched.
IV. A white precipitate settles at the bottom of the test tube.
The correct observations are :

(a) I, II and III (b) II, IIT and IV

(¢ I, III and IV (d) T and III only

31(B) 15 P.T.O.



27. 5 BF AR WaAtedt I, 11, 111 3R IV @ & § 5 mL THa sid
AT B |1 IO 98 9HE 91 § 9R fafie a9, 9 1 H NaCl, 11
KCl, IIT # CaCl, 991 IV § MgCL, fAeiar 81 9% wvamd o8 Jois
W@t H HEA o faerd o THA ki A 960 ARt & 98ETall sl
TR -aeR Feamar € 1 foret wrHferal & 3§ ! an # g fewm < 2

(a) had [ AR 1T (b) A III 3R IV

(©) had I AR 111 @ I, IT 3R 111

A student takes 5 mL of distilled water in each of the four test
tubes I, II, IIT and IV and then dissolves an equal amount of four
different salts, namely, NaCl in I, KCl in II, CaCl, in III and
MgCl, in IV. He then adds one spoon full of a sample of soap
solution to each test tube and shakes the contents of the test tube
equally. In which test tubes will enough foam (lather) be

formed :
(a) Only I and II (b) Only III and IV
(¢) Only I and III (d) I, IT and III

28. QU T 3tadel U1 ki ®iRd U F1d H & fohmdl TR H, U1 &t T
fiR T R SHS +E THS B M Wg TR oft ST B A U F TH
Zhe | YAN fRan1 <0 & 29 Ths g1 o1 yfdfer

(a) WS w1 |t Teafa @ geren fomrE <ar €1

(b) AT & A sar © foa QR gdur gR s

© H frafd W a7 ¥ o9 W R g9 gR o= ¥

(d) T IO FHT gAN B U F THS 31 ke I 7
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While performing an experiment to determine the focal length of
a given concave mirror, the mirror fell on the floor and broke into
many pieces. However, the student performed his experiment
with one of the pieces. The image formed by this piece of mirror
1S :

(a) blurred for all positions of the screen

(b) of same brightness as with the whole mirror

(¢c) at the same position as it would be with the whole mirror

(d) closer to the piece of mirror than of the whole mirror

29. fU 7T 3T o 1 BrerE T A A THI h1g D (ol e o o1 1
yfdfera o8 W g war €1 fora % wmie wd W 9 wfafa 2

(a) S SR = (b) e R T
(c) Hirenm SR Bl d) e 3R B

A student while determining the focal length of the given convex
lens, obtains on the screen the image of a distant object. With
respect to the object the image formed on the screen will be :

(a) inverted and enlarged (b) erect and enlarged

(¢c) erect and diminished (d) inverted and diminished

31(B) 17 P.T.O.



30. 15 S fafe TIaA HI071 & A STEAR Hid & ®id ¥ oA arel

31.

TehTY] bl ToRYOT 1 99 ARTEd 8 & 99910 98 U1dT © T T G0
T .

(8) £i> /v, W Le & (TI) GHAH B |

(b) /i< sr, T Le o (TYT) F9E & |

© <i> se, W «rh (TWT) GHA gl

d) i< e, T «r & (ATW) TUE ¥ |

A student on tracing the path of a ray of light passing through a
rectangular glass slab for different angles of incidence would find
that in all cases :

(a) «1 > «r but (nearly) equal to ze
(b) 21 < «zr but (nearly) equal to ze
(c) 21> e but (nearly) equal to sr
(d) z < ze but (nearly) equal to zr

Fi9 o TUSH 9 oA dTeit Jhre St fortor &1 99 AREd L &1 Ta0T
HTd T et Heled 3 BRI i 98 THS <A foh o7 eged g e
R frsq &t I Ji @ WY | T99 86 %l geEl fHerd ©

(a) TU<H &1 9ES I & |

(b) SATIT 10T 1A HLd H

(c) Toge™ =iv I & o

) F& & w9g fsw & foranfug g1 w® 39 g 3 fafa ) g
e & 9 |

31(B) 18
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While doing the experiment to trace the path of a ray of light
through a glass prism, students were advised by the subject
teacher to first draw the outer boundary of the prism on the
drawing sheet. This helps the students to :

(a) find out the size of the prism

(b) find out the angle of incidence

(¢) find out the angle of deviation

(d) readjust the prism to the same position in case it gets
displaced during the experiment.

32. wfesrll @ will I # = <1 T wfesi € 1

werielt, TR, i, o], foEl, e, T Fl 3iR TR

$TH 9 9HSG A1 delt of afesd |
() o7 3R TR

(b) Reet R TR

(©) ST 3R T Tt

(d) TSR SR el

31(B) 19 P.T.O.



A basket of vegetables contains the following :

Cauliflower, Carrot, Chilli, Potato, Okra, Radish, Sweet Potato
and Tomato

The two vegetables having homologous structures are :
(a) Potato and Tomato

(b) Cauliflower and Carrot

(c) Potato and Sweet Potato

(d) Carrot and Radish

33. fhdl S ¥ =1 & o5 & YUT 1 HEHH! Toloh Y& A o A Hal
T | 3HA 3Heh fafye wrTl hl qeen R A= & T gE o

I. Tig 1. < < I11. 3T<: %ha=

IV. i VARCISEE|

STH WEl Y9 U 9T ®
(a) I, IT 3R 111 (b) III, IV 3RV

@© L IV3RV @ I II IV 3RV

31(B) 20



A student was asked to carefully observe and identify the various
parts of an embryo of a gram seed. He identified the parts and
listed them as under :

I. Plumule II. Testa III. Tegmen
IV. Radicle V. Cotyledon

The correctly identified parts among these are :

(a) I, II and III (b) III, IV and V

© I, IVandV ) I, 1L, IV and V

34, THifeh 3T o TUIYHI HT AT Hd FHY TRt B g Al fRy 2
frefafad Jami ) fa=r i -

wH W& TuTerd PN
1 |uHtfes st w1 TTEH
2 |uHifew vt w1 Ty HIE 7Y TR
3 SR RCIGRE fae
4 |difeam TRSNE FEe | TEifew TSN
3T T R g

Wﬂﬁﬁﬂﬂﬁ%ﬂﬁﬁ:
(i) T 9& YT YgEny, qe

(i) ST S Y&TT eI §, S= Wel i |

31(B) 21 P.T.O.



Consider the following observations as recorded by a student
while studying the property of acetic acid :

S1.No. Property Observation
1 Colour of acetic acid Colourless
2 Adour of acetic acid No odour
3 Solubility in water Soluble
4 Gas evolved when acetic acid is added |Hydrogen
to sodium hydrogen carbonate

Out of the above four observations :

(1) 1dentify two correct observations, and

(11) correct the two incorrect observations.

35. 3T S o ST YN &1 7 fafgu {598 T 9 9 <1 Tdfd 9T«
Bl € 3R Seh 1 31fac 9aTa B ST 81 9% fRE YR e §, S9H
T H AT hifT |

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Explain briefly how this happens.
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36. fHEl B9 7 3TA 919 1 YA FHlh U W HHaT i Saral] o1 faafda 2
yfafersl 9T X oo @1 379 o8 HIHE! i STl il A9 I AR 8-
Y TR 3R & 9N ST gfdfera 98 T hiehEd i 2|

() & IR yfafers &1 9¢ R wiwfag w@ & fau a8 9€ =) foeg feen A
TIHT & - IS hY SR 3Ta1 U8 F T2

(i) Ffdfers & GIEst 1 1 Sl © - 98 @al § AT ¥l © ?

(iii) fS 8 BT HH i ST i AG & TAfeh e A S, @ 9
T g8 A1 Y& T ?

A student has focussed the magnified image of a candle flame on

the screen using a convex lens. Now he gradually moves the

candle flame towards the lens and each time focuses the image
on the screen.

(1) In which direction - towards or away from the lens, does he
move the screen each time to focus the flame ?

(11) What happen to the size of image - does it increase or
decrease ?

(111) What will he observe on the screen if he moves the candle
flame very close to the lens ?
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